IM3: Math 2 Unit 10 Name:
M2 10.1, 10.2 extra practice

12 10.1 I can represent possible outcomes in a 2-way table, tree, Venn diagram, and with probability
statements.
M2 10.2 I can calculate basic and conditional probabilities given frequency of possible outcomes.

1. (Loosely based on a true story) At Taste of Northampton, La Veracruzana sold chicken and vegetarian
(cheese) quesadillas and chicken and vegetarian (bean) burritos. 87 people bought chicken quesadillas,
65 people bought vegetarian quesadillas, 90 people bought chicken burritos, and 92 people bought
vegetarian burritos.
a. Create a 2-way frequency table using these data.
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b. Create a Venn diagram using these data. (Honors: create 2 Venn diagrams with these data that
are as different from each other as possible.)

c. Create a tree diagram using these data. (Honors: create 2 tree diagrams with these data that
are as different from each other as possible.) 2 %t

%

d. Calculate:
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2. Use the Venn diagram to calculate the probabilities.
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3. Complete the 2-way frequency table and draw another representation of the data (either a Venn
diagram or a tree diagram.)
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4. Complete the 2-way frequency table and draw another representation of the data (either a Venn

diagram or a tree diagram.)

Response

Yes | No | Total

Age

Under 21 l 24 25

Over21 | 29 |21 | So

Total 30 |49 75
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In a survey distributed on a gaming platform, 214 ninth graders played video games every day of the
week and 22 ninth graders did not play video games every day of the week. Of those that played every
day of the week, 36 had trouble sleeping at night. Of those that did not play every day of the week, 7
had trouble sleeping at night.

a. Create a 2-way frequency table using these data.
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b. Create a Venn diagram using these data. (Honors: create 2 Venn diagrams with these data that
are as different from each other as possible.)
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c. Create a tree diagram using these data. (Honors: create 2 tree diagrams with these data that
are as different from each other as possible.)
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d. Calculate: 20, M\R

i, P(sleep trouble | video games every day) = m or |7 79

ii.  P(sleep trouble | video games not every day) = ?_ 2 ,}70
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6. Challenge: For financial reasons, a school district is debating eliminating a computer programming
class in the high school. The district surveyed parents, students, and teachers. The results are given in
the 2-way relative frequency table below. (Note that the numbers given are the proportion of the full

group surveyed.)

Parents | Students | Teachers | Total
Yes 0.58 0.08 0.10 0.
No 0.06 0.15 0.03 0.24
Total O.LY 0.23 | 0.\3 \

a. Fill in the rest of the table.
b. Make two different tree diagrams representing these data. "’ﬂ’

c. Calculate P(student) = O;S/l o

0.1
0.23 = 0.65

e. Making a Venn diagram for these data could be tricky. Give it a try!

d. calculate P(no |student) =




